v ARk m
ATV IORTZ Ty —/ Rk

ATV IR RIS - RANT—[. AT L AH AL
EH 22120.

EmiA

AVFVIRTZUDv—R, AVFYIVAROREBVET
ATV L AHMMBRAET I, MEERICBEhTLET

3 3
: : HHE EuaEH
&4k
4 4 « A7 L R481.4401 =
| , SR AHE

Ovsy- ey Ovo- +v NERIEYTT,

—_ =S « AFULRB 14401 ZY TN Y F
)7
. BAEMBIEPAG, TSV OILA, TV
N

« AT L A#1.4401

AovE— FYb
o AT L A#H1.4401

Ly

&l

P Ovs- +vk

%Eﬁ
| d4
F1T | a, | 22120.1514 - .1520

= 1 x| 2
RITEH
+3£ NxHY I [ ]
dy d; I d3 I4 I3 Iy Fy F; min. max.
-0,02 min. # #
-0,05
[mm] [N] [°C] [9]
WERTSAFY IR/ TH -EA1
4 M 8x1 4 16 35,0 16 5 3,5 1" -30 80 10 22120.1044
M 8x1 6 16 35,0 16 5 3,0 11 -30 80 11 22120.1064
5 M10 x 1 5 19 40,0 18 6 3,0 12 -30 80 18 22120.1045
5 M10 x 1 8 19 40,0 18 6 3,0 14 -30 80 18 22120.1065
6 M12x 1,5 6 23 48,0 22 6 4,5 16 -30 80 30 22120.1046
6 M12x 1,5 9 23 48,0 22 6 4,0 20 -30 80 30 22120.1066
8 M16 x 1,5 8 28 58,0 26 8 6,0 23 -30 80 66 22120.1068
8 M16 x 1,5 12 28 58,0 26 8 7,0 26 -30 80 63 22120.1048
10 M16 x 1,5 12 28 58,0 26 8 7,5 32 -30 80 64 22120.1080
12 M20 x 1,5 15 33 71,5 33 10 9,0 32 -30 80 129 22120.1082
ATVLABR/ TH-R2
4 M 8x1 8 16 35,0 16 5 3,5 1" - 100 20 22120.1054
4 M 8x1 6 16 35,0 16 5 3,0 11 - 100 20 22120.1074
5 M10 x 1 5 18 40,0 18 6 3,0 12 - 100 32 22120.1055
RE: R RSl

B1/452
NHALDER 5 26.9.2024


http://halder.com/jp/22120.1044
http://halder.com/jp/22120.1064
http://halder.com/jp/22120.1045
http://halder.com/jp/22120.1065
http://halder.com/jp/22120.1046
http://halder.com/jp/22120.1066
http://halder.com/jp/22120.1068
http://halder.com/jp/22120.1048
http://halder.com/jp/22120.1080
http://halder.com/jp/22120.1082
http://halder.com/jp/22120.1054
http://halder.com/jp/22120.1074
http://halder.com/jp/22120.1055

v ARk m
ATV IORTZ Ty —/ Rk

3% NETE i & HEES
dy d; I d3 I4 I3 Iy Fy F; min. max.
-0,02 min. # #
-0,05
[mm] [N] [°C] [g]
5 M10 x 1 8 18 40,0 18 6 3,0 14 - 100 32 22120.1075
6 M12x 1,5 6 22 48,0 22 6 4,5 16 - 100 63 22120.1056
6 M12x 1,5 9 22 48,0 22 6 4,0 20 - 100 56 22120.1076
8 M16 x 1,5 8 27 58,0 26 8 6,0 20 - 100 107 22120.1078
8 M16 x 1,5 12 27 58,0 26 8 7,0 26 - 100 109 22120.1058
10 M16 x 1,5 12 27 58,0 26 8 7,5 32 - 100 111 22120.1090
12 M20 x 1,5 15 32 71,5 33 10 9,0 32 - 100 203 22120.1092
) gEEt e P8
ToeY)—
RE LYFH4X [ 1
dz
[mm] [mm] [a]
O 273 v MIS08675 (DIN 439), A7 > L A §1.4401
M 8x1 13 2,8 22120.1514
M10 x 1 16 54 22120.1515
M12x 1,5 18 7,6 22120.1516
M16 x 1,5 24 18,0 22120.1518
M20 x 1,5 30 33,0 22120.1520

ESQAVTIATUA

FHEOETERICOVTER, BNOREESEZRRL TLEEL,

"H2A52
EE HALDER hi: 28.9.2024


http://halder.com/jp/22120.1075
http://halder.com/jp/22120.1056
http://halder.com/jp/22120.1076
http://halder.com/jp/22120.1078
http://halder.com/jp/22120.1058
http://halder.com/jp/22120.1090
http://halder.com/jp/22120.1092
http://halder.com/jp/22120.1514
http://halder.com/jp/22120.1515
http://halder.com/jp/22120.1516
http://halder.com/jp/22120.1518
http://halder.com/jp/22120.1520

